Uy

2015%EE BAENRTYNMNR—)L)—FE xfEiER—F TR 27 EERKER

’

BF1ER 5] 5 B L3R T8
WW 5 il y %ﬁ?%na\\‘l‘%%na\\ ?;E.Fln\ ‘ %nﬁ\\
FB \zo5v7| JE | mx | mos | B 2777 et SR C LI Eeated |1
%) RIE
A BE k5| 8 74, 105 83 90 82| 83 79| 83 63| 66 79| 512 460
Sz 1.113 10 s 1

B Bm| O 2l O 2l O 2l O 2l O 2| x of MEIL

74  85|1Fm K= 0 O] 117 53] 94 83| 98 75| 93 69 476 365

A959F 1.3041 7 w2
X O|BSEN B | A -1 O 2l O 2l O 2l O 2| BEEIS
nE 83 105| 0 0|85 %= 120 84| 80 98] 90 75| 108 102] 481 464
h59 | 1.0366 5 #inndl 4
X 0 1|58 = | O 2| x 0l O 2l O 2|  BSERS|a
82 90| 53 117| 84 120|154 ks 93 84| 108 49| 94 70| 514 530
HEX 0.9698 6 #uut] 3
X o x 0] x O|B%EX B | O 2l O 2l O 2|  B5ERS|5
79 83| 83 94/ 98 80| 84 93(BAH &£/A o0 of 93 81 437 431
wos 1.0139 4 #uaatl 5
X o] x 0l O 2| X O|BSER B | A 0l O 2|  BEERS|4H EERR
IREE 63 83| 75 98] 75 90| 49 108] 0 o|B&E £&H| 72 92 334 471
59 0.7091 0 e
X 0] x o] x o] x 0 O|BSER B | X o BEEkEIS
79 66| 69 93] 102 108] 70 94| 81 93] 92 72|B& £&| 493 526
A950T )L 0.9373 4 #HHH 6
@) 2| x ol x ol x 0| x 0 O 21BBEK B |  BEGIR EERR
( pA

BRESEHR BECEIU. BER(O) 2R BERX(X)0R. SIER T (A) TR, FBBIZLBE T (O)2RTHRER () -1



2015FE REARENRTYMR—IL)—J 8 XEER—& FR27FEREER
B¥2E 5 R IERLIR E
X ERFRF 4 . =t weER i 3 B Ks N
hoy | FFEY #ith &R JFOX | o5 | —OF | F-arsi—y NI F—n7~L— || B 4L
R%/BR/51 5 REHM
x4 BE %A 97 71 81 73] 89 51| 68 78/ 85 77| 110 54| 530 404 149 151
557 13119 10 0987 2
B Bm| O 2l O 2l O 2| x ol O @) 2| BEERE|S F— LET—IL7A
71 97|85 %k&| 64 82 20 o] 59 83 73 71| 67 47| 354 380
[Ny % 0.9316 6 | 4
X O|BSERX BEm | X 0 O 2| x 0 O 2l O 2| BEEIS
73 81| 82 64|B&A ks| 77 74| 86 62 83 74| 71 54 472 409 159 143
FHih 1.154 10 1112 1
X 0l O 2| s | O 2l O 2l O 2l O ] F— LRT— L7
51 89 0 20| 74 77|84 k& 53 92| 76 72 75 62 329 412
1L &R 0.7985 3 #uut 5
X 0 -1] X O|BSERN Bm | X 0 O 2l O 2|  B5ERS|5
78 68| 83 59| 62 86| 92 53|5Fm %k=| 93 68 97 63 505 397 140 154
J-FOX 1.272 10 0909 3
O 2l O 2| x ol O 2B | O 2l O 5B 5 F— LT —LTA
=4 77 85| 71 73] 74 83| 72 76| 68 93|BAE k& so 81 442 491
555 0.9002 0 e
X o x o x 0 x 0] x O|BSEN B | X of BsEKSI%
54 110 47 67| 54 71| 62 75| 63 97| 81 80|B%A kA 361 500
—NDE 0.722 2 #Hut| 0
X 0 x 0 x 0 x 0 x 0 O 2\B5E BEml|  BSEREIR
BRESEFA REICKU. BEI(O) 2. BB R (X)0A.BSERT(A) 1A, FEBICKAEIL(O)2ETHEX(-)—14




2015FE RBRABNRSYNMNR—)L)—T8 xEiER—5 27 EERIEHER
E?Sﬁ.? 5] s B LR
X ERFRF -+ . - Biea Bia B Ks
5 | | RE f"j’; FRESVEl JUE =7 | 7<= | @mA |5 | B
R/ B8 /515 REER
A Bha ks 51 86| 93 68 62 651 83 90| 59 88| 83 59 431 456
h59 0.9452 4 s 5
BN B | X 0l O 2| x 0] x 0| x O 2| BEERE|S EERR
86 51|14 &£&| 109 62 73 65 91 64| 85 81| 92 73] 536 396
JANRS 1.3535 12 w1
O 2|58 = | O 2l O 2l O 2l O 2l O 2| BEEIS
68 93] 62 109|855 k= 74 91| 85 79 66 101] 63 82 418 555
wE 0.7532 2 #uunt| 6
X 0] x O|B%ER B | X 0l O X 0 x of BsE&sIH
- 65 62| 65 73| 91 74|15 k& 102 91| 89 79 98 67| 510 446
559 1.1435 10 #]| 2
O 2| x O 2B = | O 2l O 2l O 2|  B5ERS|5
90 83| 64 91| 79 85 91 102|5B8&A k&A| 62 87 20 o] 406 448
FREEMEN 0.9063 4 w4
O 2| x o x o x O|BkBR BES| x ol O 2|  BERE & B
% 88 59| 81 85| 101 66| 79 89| 87 62|BA %£&A| 96 80| 532 441
559 1.2063 8 #uut] 3
O 2| x o O 2| X 0 O 2B R | O 2|  B5ERS|4
59 83| 73 92| 82 63 67 98] 0 20 80 96|BE k&[ 361 452
JL—TIL 0.7987 1 wunid| 7
X 0o x o O 2| x 0 -1 x O|BER Bl  BEKEI &
BRESEFA REICKU. BEI(O) 2. BB R (X)0A.BSERT(A) 1A, FEBICKAEIL(O)2ETHEX(-)—14




20156 E BRARENRTYMR—IL—J8 HBHERE—F FH27EEREER
BEF4E 5] m B 5L 2R 18
X ERFRF . JNC e s, Biea Bia B Ks
F (M g | TAL | REOR Ixmpso| FERT s | s (s | JEGE
z 7 5 7 /8315 REER
BE %kA| 89 45 67 74/ 60 68 80 66/ 64 71| 74 51 434 375
E/NR 1.1573 6 w3
B Bm| O 2| X o] x 0l O 2| x 0l O 2| BEEIL EERR
45 89|BH k5| 65 84 70 64| 63 62 80 70 56 67| 379 436
AT R 0.8693 6 | 4
X O|BSERX BEm | X 0 O 2l O 2l O 2| x of BsE&SI% EERR
JNG 74 67| 84 65185 k5| 66 63 70 61] 118 51| 90 72[ 502 379
<—H—Z | 1.3245 12 iz M
O 2l O 2|58 B | O 2l O 2l O 2l O 2|  BEERs|H
N 68 60| 64 70| 63 66|15s k&S| 59 64 71 76| 52 58] 377 394
59 | 0.9569 2 e
O 2| x 0] X O|BSERX BEm | X 0] x 0] x of BsE&SI%
66 80| 62 63 61 70| 64 59|5m %km| 67 85 76 59| 396 416
HEE/\RTER 0.9519 4 #uaat| 5
X o| x o| x ol O 2B B | X ol O 2|  BERE &
71 64 70 80| 51 118] 76 71| 85 67|B& K& 20 o 373 400
XEHST 0.9325 8 #] 2
O 2| x 0 x 0l O 2l O 2B R | O 2|  B5ERS|4
51 74 67 56| 72 90| 58 52| 59 76| 0 20|B& L& 307 368
FEKRIST 0.8342 3 a6
1 x 00O 2 x 00O 2| x 0 1| BEER Bl BERG &
BREEEHR RAalc&Y. BEII(O)2A. E(X)0R.B[ERIT (A TR, FEBIZKIBEIT(O)2ETHREIL(—)—14




2015FE REARENRTYMR—IL)—J 8 XEER—& FR27FEREER
BE¥55 5 R IERLIR E
X ERFRF Biea Bia B Ks
NOK |/hNEYST| Vyvi-A |iIRYS7| BRER |RXKkU5T| SBC T—LTFAL—T Hahh e F—n7~L— || B 4L
R%/BR/51 5 REER
Ba ka|l 72 89 62 71| 62 60 49 68] 54 93] 41 79 340 460
NOK 0.7391 2 #aan| 7
BN B | X 0| x ol O 2| x 0] x o] x of MEIL
89 72|84 k5| 55 82 62 69 65 51| 62 105] 105 61 438 440
INEYST 0.9955 6 #uut] 3
@) 2\B5EX MR | X 0] x 0l O 2| x 0l O 2| BEEIS EERR
71 62| 82 55184 s%ks| 58 60| 78 81| 72 75| 77 84 438 417
VEVE T 1.0504 4 w6
O 2l O 2\B5EN B | X 0| X 0| x 0] x of MEIL EERR
60 62| 69 62| 60 58[%5&A ks 49 83| 78 93] 56 75| 372 433
IROST 0.8591 4 #uut 5
X 0 O 2l O 2\ BB B | X 0] x 0] x of MG EERR
68 49| 51 65| 81 78| 83 49|54 kM| 45 108] 41 72| 369 421
ERER 0.8765 6 w4
@) 2| x 0l O 2l O 2\B5EN B | X 0] x of BsE&SIH B R
93 54| 105 62| 75 72| 93 78| 108 45|B& &£&| 117 69 591 380
xKK9Z5T 1.5553 12 w1
O @) 2l O 2l O 2l O 2B R | O 2|  B5ERS|4
79 41| 61 105 84 77| 75 56| 72 41| 69 117|5B%H £A 440 437
SBC 1.0069 8 waun| 2
O 2| x o O 2l O 2l O 2| x O|fBER Bl BSERSIR
BRESEHRR RAICKY. BEI(O) 24, E(X)0R.B[ERIT (A TR, FEBIZKIBEIT(O)2ETHREIL(—)—14




2015FE RBRABNRSYNMNR—)L)—T8 xEiER—5 TH27 FEREHER
E?Gﬁ.? 5] s B LR
X ERFRF Biea Bia Ba %km
L4h—X| Y's |BARHC |ILyIR| EEARC | BiIX |[EEAYST| F—rr - fams S F—n7~L— || B 4L
R/ B8 /515 REER
BE kA| 92 82 85 119 75 80 73 81| 75 96| 61 41 461 499 136 121
LAH—X 0.9238 4 1124 4
B Ba| O 2| x 0] x 0] x 0] x o] O 2| BEGIH F— LT A
82 92|84 %&&| 62 159 84 113] 60 95/ 92 106] 0 20 380 585
Y's 0.6496 -1 w7
X O|BSERX BEm | X 0 x 0 x 0] x 0] x -1 BES15
119 85| 159 62(8& %A 96 84| 82 95 84 58] 1120 56] 652 440 166 153
HEARTC 1.4818 10 1.085) 1
@) 2l O 2| s | O 2| x ol O 2l O 2|  BERE & F— LT —LT A
80 75| 113 84| 84 96|15 4| 63 87| 86 97| 66 68 492 507 146 143
TLyIR 0.9704 4 1.021] 5
@) 2l O 2| X O[BsBR Bim | X 0| x 0| x of MBERsIH F LT LT A
81 73] 95 60| 95 82 87 63|5BA kA| 58 65 77 68 493 411 153 147
REXC 1.1995 10 1.041] 2
@) 2l O 2l O 2l O 2B B | X ol O 2|  BERE & F— LT —LTA
96 75| 106 92| 58 84| 97 86| 65 58|"& L&A| 69 68 491 463 123 142
=XV N 1.0605 10 0.866] 3
@) @) 2| X of O 2l O 2[R s | O 2| BEEIS F— LRET— LT A
41 61| 20 o 56 112 68 66| 68 77| 68 69|BE L& 321 385 109 127
By 7 0.8338 4 0858 6
X @) 2| x 0 O 2| x 0] X O|BSBR Bl BEEKGIR F— LB — LT A
BREESEHA RACEU. BEIX(O)24. IO/ . BIERTF (A 1R, FEBICLIBEIZ(O)2aTHREIZ(—)—14




2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

E??ﬁ.? 5] s B LR
X ERFRF R o fas s ks Ba %km
A5 —ToB | BR |75997-v|EiLbyT 7;‘9% Rl e v s | F-rro—s | JIEfL
? < B//315 SR
Bha ks 63 53] 84 49 61 59 97 65| 59 63| 60 57| 424 346
WERIZT 1.2254 10 | 1
B Bm| O 2l O 2l O 2l O 2| x ol O 2| BEEIL
53 63|8B& k5| 72 88 53 77| 82 88 67 87| 85 80| 412 483
—TOB 0.853 2 e
X O|BSEN BEm | X 0] x 0] x 0] x 0 O 2| BEEIS
49 84| 88 72184 k45| 63 53] 56 77| 67 54| 42 55| 365 395
BR 0.9241 6 sl 4
X O 2|f5EK B | O 2| x 0l O 2| x of MEIL F—LEBLR
59 61| 77 53| 53 63|15H k&| 73 68 50 39] 54 78] 366 362
779979 1.011 6 #uut 5
X 0 O 2| X O|B%EX B | O 2l O 2| x of BsE&SI% F—LREBS R
65 97| 88 82| 77 56| 68 73|84 k| 75 100/ 61 89 434 497
ey 0.8732 4 w6
X of O 2| O 2| X O|BSBX Bsm| X 0| x of MBERsIH
63 59 87 67| 54 67| 39 50[ 100 75|B& %£&A| 64 52 407 370
T4—ILKTYT 1.1 8 w2
@) 2| O 2| x o| x of O 2B = | O 2|  B5ERS|5
57 60/ 80 85| 55 42| 78 54| 89 61| 52 64[BH kA 411 366
I Taya 1.123 6 wuni]| 3
X 0] X 0 O 2l O 2l O 2| x O|fSER B | MSEKGIH F—LRBS R
BREEEEHA RAEICEY. BEZX(O)24. IO/ . BIERTF (A 1R, FEBICLIBEIZ(O)2aTHREIZ(—)—14




2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

E?Sﬁ.? 5] s B LR
X ERFRF Biea Bia Ba %km
8595 Syl | E40B |SONICS [2+457| Hi& WX | T—nrAL—y fams S F—n7~L— || B 4L
R/ B8 /515 REER
BE %kA| 82 59 87 55 47 70 60 74| 69 67| 63 80| 408 405
=R 1.0074 6 s 5
B Bm| O 2l O 2| x 0| x ol O 2| x of MEIL EERR
59 82(B8& %= o0 20/ 64 85 52 69| 57 84 o0 20 232 360
AN 0.6444 -2 w7
X O|BSERX BEm | X -1 x 0] x 0] x 0] x -1 BES15
55 87| 20 B8 k5| 63 130 62 117 75 97| 73 85] 348 516
E£0B 0.6744 2 #uunt| 6

X 0l O 2\B5EN B | X 0] x 0] x 0] x of MEIL

70 47| 85 64| 130 63|1B5& L& 85 106 56 72| 64 77| 490 429
SONICS 1.1422 6 w4

@) 2l O 2l O 2\ B | X 0| X 0| x G EERR
74 60] 69 52[ 117 62| 106 C 4] 76 81] 500 404

£+957 1.2376 8 #aant| 3
@) 2l O 2l O 2l O 2|B5ER B i ClbaN

X
o
X
o

67 69 84 57 97 75| 72 56| 64 58|5B& k& 1000 43| 484 358
Bk 1.352 10 w1

N

=
2!

X 0 O 2l O 2l O 2l O 2|58 = | O R 5 EHERR
80 63| 20 of 85 73| 77 64 81 76| 43 100|5B5H %A 386 376

IR 1.0266 10 w2
@) 2l O 2l O 2l O 2l O 2| x OlBER Bl  REERGI & EHERR

o

BREEIBR AEICLY. BEE(O)2A. FEOD0ORBIEFF A TR BB HBE T (O) 2R THRERF () — 1R



2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

E?Qﬁ.? 5] s B LR
X ERFRF w1k =l o = Ba %km
H—)LZ | KR—)L | LAYERS ,f_["; IND FREOEQ"EN R“Mbber SN R wis | F-onrse—s | IEfRL
7 en /8315 REHEH
B k5| 88 62 51 85 77 61| 46 76| 49 80| 55 80| 366 444
H—ILRA 0.8243 4 #uaatl 5
B s O 2| x ol O 2| x 0] x 0] x of MBEGIH B R
62 88|8BA ks 54 58] 78 52| 75 72| 44 82 65 99| 378 451
RX—)L 0.8381 4 #unit|l 6
X O|BSERX BEm | X 0 O 2l O 2| x 0] x of BsE&SI% EERR
85 51| 58 54|85 k5| 76 47| 50 96| 41 95| 84 88 394 431
LAYERS 0.9142 6 w4
O 2l O 2|58 B | O 2| x 0| x 0] x of MBERsIL
. 61 77| 52 78| 47 76|:Bs k& 41 111 55 112 39 77| 295 531
559 0.5556 0 e
X 0 x 0] x O|BSEN B | X 0] x o x of BsE&SI%
76 46| 72 75| 96 50| 111  41|58Hm Lm| 59 69 98 88| 512 369
IND 1.3875 8 #uut 2
@) 2| x 0l O @) 2\B5EN B | X 0l O 2|  BSERS|a EERR
80 49| 82 44| 95 41| 112 55| 69 59|BA %£&A| 68 54 506 302
FREOEBMEN 1.6755 12 w1
@) 2| O 2| O 2l O 2l O 2B R | O 2|  B5ERS|4
80 55| 99 65| 88 84| 77 39| 88 98] 54 68|BA L&| 486 409
Rubber Men 1.1883 8 #anaH| 3
O 2l O 2l O 2l O 2] x 0] x O|BER Bl  BSEREI & B R

BREEIBR AEICLY. BEE(O)2A. FEOD0ORBIEFF A TR BB HBE T (O) 2R THRERF () — 1R



2015%EE BAENRTYNMNR—)L)—FE xfEiER—F TR 27 EERKER

+ 108 [F] = B 32 2R T
X‘ ‘$‘ H K4 — ., = %‘l’f‘-}\'f;afnﬁ\\ %\,’f‘,}\i,.ﬁ“ ?;E.Fln\ %nﬁ\\
AZT7 \=mos5o| | ko | T | auns | g | s | mmR Sz JER
_ B/ 8/5159 REEH
/R k=] 71 74 79 62| 64 60 75 60| 85 63| 107 47| 481 366
RKREHVST 1.3142 10 st 1

BN B | X 0l O 2l O 2l O 2l O 2l O 2| BEEIL

74 TM|IF= %k=| 60 81| 50 72| 71 73| 84 54 70 50 409 401

KEIST 1.02 6 | 4
O 2\B5EX MR | X 0] x 0] x 0l O 2l O 2|  B5ERS|5 F—LBBLA
62 79| 81 60|5s k&= 71 74 82 51| 83 70| 83 97| 462 431
ANAr=h—A" 1.0719 6 a3
X 0l O 2\ BB B | X 0l O 2l O 2| x of MEIL F—LEBLR
60 64| 72 50| 74 71|:BH k45| 68 60/ 74 80| 69 66] 417 391
J\{toB 1.0665 8 w2

X 0 O 2l O 2|58 = | O 2| x 0 O 2| BRI

60 75| 73 71| 51 82| 60 68|1Fs %km| 64 79| 52 69| 360 444
aAVT4=a1— 0.8108 2 sl 7
X 0l O 2| x 0] x O|B%ER BSm| X o x of BsE&sIH

63 85| 54 84/ 70 83| 80 74| 79 64|\Fm Kk=| 75 61 421 451

GUNS 0.9335 6 #uut| 5
X 0] x 0] x 0 O 2l O 2|58 = | O 2| BEEIS F— LR R
47 107 50 70| 97 83| 66 69| 69 52| 61 75|84 kA 390 456

= H 0.8553 4 #H| 6

] 0 x o O 2| x o O 2] x OlBER Bl  REERGI &
B ESEBR REICKY. BEII(O) 24, E(X)0R.B[ERIT (A TR, FEBIZKIBEIT(O)2ETHREIL(—)—14



2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

1188 5 R IERLIR E
T E; 4R Biea Bia B Ks
ZAP 34b=v4" |O. S. P. ZIK SAZWD | Chappy's P! T—LTFAL—Y Haps = TF—n7~v—v | [E{L
R%/BR/51 5 REER
B k=) 61 71| 60 80| 43 77| 53 100 52 55| 59 81 328 464
ZAP 0.7069 0 #aan| 7

BB Bse| X 0] x 0] x 0] X 0| X 0| X of BsE&sIH
] E 71 61 57| 74 128] 47 70| 49 69 354 472
L=V 0.75 4 #uunt| 5

O 2\B5EX MR | X 0 O 2| x 0 x 0] x of BsE&SI%
80 60] 87 52|8& k=] 92 70| 68 83 75 72| 60 72| 462 414
O.S. P. 1.1159 8 #uan| 2
O 2l O 2|58 B | O 2| x ol O 2| x of BsE&SIH B R
77 43| 57 61| 70 92|84 k&| 62 1050 0 20 93 74 359 395
Z Bk 0.9089 3 #unit| 6

”E& H#lu\ x 0 x _1 O 2 H%E&gléj\
. _ 100 53| 128 74| 88 6 05 62|85 %k&| 115 60/ 92 79| 628 396
DAEDD 1.5859 12 w1

@) 2l O 2l O 2l O 2| s | O 2l O 2|  BERE &
55, 52| 70 471 720 75| 200 o 60 115|/A k& 95 76| 372 365
Chappy's 1.0192 8 a3

BRESEHR BECIU. BER(O)2R. BERX(X)0R. SIEF T (A) TR, FBBIZLBE T (O)2RTHRER(—) —14R

O 2l O 2| x ol O 2| X O|B%EX M= | O 2|  B5ERS|5 EHERR
81 59| 69 49| 72 60/ 74 93] 79 92| 76 95[BA %A 451 448

pul 1.0067 6 #HH 4
@) 2l O 2l O 2| x o x o x O|fkER Bsmll BSERSIR




2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

1288 5] m B 5L 2R 18
T E; 4R N N X = B Ks
Kigs57| gz |08 |wvrsur (meisasn| fesos [FREPI TS mma | aors | IR
R%/BR/51 5 REEH
BA kA| 50 64| 68 97| 37 92| 48 119] 50 96| 64 125| 317 593
K&EHST 0.5346 0 #aan| 7
BN B | X 0] x 0] x 0] x 0] x 0] x of MEIL
64 50|84 k&S| 72 85 56 75| 79 98] 41 79 91 97| 403 484
fEdES 0.8326 2 #unit|l 6
@) 2|5 PSR | X 0] x 0 x o x 0 x of BsE&SI%
R 97 68| 85 72[8= k= 76 131 520 76| 88 114] 73 115] 471 576
7L’O’B/77‘ 0.8177 4 w5

X 0| x 0| BsE5|5

0

o 92 37| 75 56| 131 76[%5& %k&| 63 80/ 56 88 55 68 472 405
NITEUR 1.1654 6 w4
@) 2l O 2l O 2|B5ER BEm| X 0] x 0] x of BEESIn

119 48| 98 79| 76 52| 80 63|:F5& %ks| 83 70/ 91 82 547 394
BERHAS )L | 1.3883 12 w1
O 2l O 2l O 2l O 2| s | O 2l O 2|  BERE &

N 96/ 50| 79 41| 114 88| 88 56| 70 83|/A %k&| 80 77 527 395
HEEEOB 1.3342 10 waunt| 2

©)
()

O 2l O 2l O 2l O 2| x 0| BB B x R 5

125 64| 97 91| 115 73| 68 55/ 82 91| 77 JESS 564 454
HWrEtrhor 1.2423 8 s 3
O 2l O 2l O 2l O 2| x 0o x O|BER Bl  BSEREI &

©
N\

Zim

s

z

BREEIBR AEICLY. BEE(O)2A. FO)0ORBIFEFF A TR FBBHCEHBE T (O)2HTHRERF () — 1R



2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

+13E} 5] s B LR
x ‘$‘ H o1t — Ny <=3 %’/{‘.}\?;E‘F"“ %‘l’f‘-}\ "5“ ?;E.Fnﬁ\\ %nﬁ\\
tamos 77T L“j'; Aty ;ij A—1 | RISE | F-n7<v—> |  #@#R |3 | JBAL
B/ 8/51 5 REHER
BE k5| 83 74, 69 107 54 90| 89 98] 80 107| 82 121 457 597
JLEROB 0.7655 2 #uunt| 6

B s O 2| x 0] x 0 x o x 0 x of MBS
0 o 74 83|B& %k&| 51 86| 48 60| 51 86| 45 85| 54 73| 323 473
Nytoy v—2 0.6829 0 w7

X O|BSEN B | X 0| x 0| x o x 0| x of MBEksIS
ints 107 69| 86 51|85 %5| 88 64/ 95 79| 80 58] 82 74| 538 395

2o 1.362 12 w1
@) 2| O 2|58 = | O 2| O 2| O 2| O 2| FEERS| 5

90 54| 60 48| 64 88|fFm k| 66 70/ 51 35 75 67 406 362

Z1-Y'v) 1.1215 8 w2
@) 2l O 2| x O|BER Bm| X 0l O 2l O 2| BEEIS EERR
WE 98 89| 86 51| 79 95| 70 66|Fm k| 49 84 51 99| 433 484
P 0.8946 6 #uuatl 5

©) 2| O 2| x 0 O 2|BAER Bm | X 0 0| M5ERS15 E R

107 80| 85 45| 58 80] 35 51| 84 49|B& &4 5 94 444 399
A—1 1.1128 6 w4

X
o

O 2l O 2| x 0] x 0l O 2|B5E B R 5 EERR

121 82| 73 54| 74 82| 67 75| 99 51| 94 75|184 k& 528 419

RISE 1.2601 8 s 3

@) 2l O 2| x 0o x o O 2l O 21BN Bl BEERE & EHERR
= Z

BRESEHR BECIU. BERE(O) 2R BERX(X)0R. SIEF T (A) TR, FBBIZLBE T (O)2RTHRER () -1



2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

F14E} 5] s B LR
> Ex FH i 2y h— =l o = Ba %km N
3Bers | I7—A| STEAL | FA—R | "% EXRLR 0 T—LTAL—Y fams S F—n7~L— || B 4L
/B/51 5 REMEH
Ba k& 81 51| 62 71 72 70 56 52| 106 41 377 285
35ers 1.3228 8 | 1
B Bm| O 2| x ol O 2l O 2l O 2 of MEIL EERR
51 81|8& %k5[ 103 63 54 51 71 73] 133 63 412 331
J7—Ak 1.2447 6 #uut] 3
X O|B%EX B | O 2l O 2| x 0l O 2 of BsE&SI%
71 62| 63 103|584 k&[] 65 73] 63 85 20 O 282 323
STEAL 0.8731 4 e )
O 2| x O|B%ER B | X 0] x o O 2 of BsE&sIH B R
70 72| 51 54] 73 65|85 k&| 63 69 78 52 335 312
H4o—x 1.0737 4 | 4
X 0 x 0 O 2\B5EX MR | X 0 O 2 of BsE&SI% EHERR
52/ 56 73 71 85 63] 69 63[B& %k&| 78 58 357 311
IyHa—X 1.1479 8 #uan| 2
X 0 O 2l O 2l O 2 s | O 2 o BEEksIH EERR
417 106] 63 133 0 20| 52 78] 58 78|B& k& 214 415
EXRILX 0.5157 -1 w6
X 0] x 0 -1] x 0] x 0|B5ER B of MKEEIS
oo of o o o oo of o o o Bh k&l 0 0 0 0
#DIV/0! 0 HitHH
— 0 0 0 0 0 OB Bsml MBS
BRGEEEFR RAEICEU. BERXO)2a. BEBIE(X)0R. 5IERIT(A) 1A, FHMHFIEEBEIX(O)2ETHEIX(—)—148



2015FF RARENRTYMR—IL)—F8 xfEER—5 TR 27 EERKER

F 1588 1 BRIy
> Ex FH =l o = Ba %km
£n E3 0 UDD |JvuhR|SEITE | BEUN T—LTAL—T NI T—nr~v—v || B L
R/ B8 /515 REER
Ba %k&| 86 56| 57 50/ 51 89| 125 63| 70 83 389 341
+0O 1.1408 6 w3
B Bm| O 2l O 2| x ol O 2| x 0 of MEIL EERR
56 86|8& k=] 29 74| 32 50| 61 46] 62 88 240 344
e 0.6977 2 #uut| 5
X O|BSERX BEm | X 0] x 0l O 2| x 0 of BsE&SI%
50 57| 74 29|84 k= 73 70/ 102 38/ 61 83 360 277
UDD 1.2996 6 sl 4
X O 2|58 B | O 2l O 2| x 0 of MEIL EERR
89 51| 50 32| 70 73|154 s%ks| 68 48/ 200 0O 297 204
DR 1.4559 8 w1
@) 2| O 2| X 0|8 s | O 2| O 2 of MBEsISn
63 125 46 61 38 102 48 68[5"& k& 80 85 275 441
b BE B 0.6236 0 w6
X 0 x 0 x X O|BSRR Bsm| X 0 of MBEsIH
83 70| 88 62| 83 61 0 20| 85 80|BA %/A 339 293
AEIJ/N 1.157 7 #uut] 2
O 2l O 2l O 2 -1 O 2|B5E B of MKEEIS
o of o o o o o o0 o o BE kA 0 0 0 0
#DIV/0! 0 it
0 0 0 0 0 O|BER Bl  BEKEIH
BRESEHRA REICKU. BEI(O) 2. BB X (X)0A. BSIERT(A) 1A, FEBICXAEIL(O)2ETHEX(-)—14



20155 F BEARENRTYMR—)L) =T XEER—E FR27EERIEHER
BF162p B S IE L3R 7
HAESET JETS  [1-ubRs- *“*’;’ =| = | ‘ij?“’ s I - -G E R e - Fivi
A B5/B8/51 5 REEH
Bha ks 98 54/ 85 70| 80 141 77 75| 86 42 426 382
LAUGHTER 1.1152 8 e
B s O 2l O 2| x ol O 2l O 2 of MREIL
54 98|84 %&| 46 56| 56 81| 53 101] 43 74 252 410
JETS 0.6146 0 #unit| 6
X O|BSEN BEm| X o| x o| x ol x 0 of MBEsISn
e 70 85| 56 46|:Fs %k&| 105 771 71 70| 57 68 359 346
A e 1.0376 6 wannsl 3
Rt ANVE B . - i
X 0l O 2|p5EK B | O 2l O 2| x 0 of MEIL F—LREBE R
141 80| 81 56| 77 105(8& %k=| 68 57 71 117 438 415
W=7 1.0554 6 i 4
O 2| O 2| x O|B5EX B | O 2| x 0 of BsE&SI% F—LREBS R
75 77| 101 53| 70 71| 57 68|/Hs %k&A| 83 78 386 347
A= 1.1124 4 s 5
X 0l O 2| x 0] x 0|B%5E B | O 2 of BsE&sIH
42 86| 74 43| 68 57| 117 71| 78 83|H/H &£& 379 340
NAEF LK 1.1147 6 #]| 2
X ol O 2| O 2| O 2| x 0|B5ER B o BEEkEIS F—LBBLA
o0 of o o o o o o o0 o o ofBA=xA 0 0 0 0
#DIV/0! 0 it
0 0 0 0 0 OlfER Bl RSER5|5
BRESEFA REICKU. BEI(O) 2. BB R (X)0A. BS[ERTF(A) 1A, FEBICKEEIL(O)2ETHEX(-)—14




2015FF RARENRTYMR—IL)—F8 xfEER—5 FR27FEEREIER

BF17E8 B S IE L3R 7
RgiRT | @S TR{ZLE RUSH /\T;E’J ZAPOB S AL N TR s oy -
7 B/B/51 5 SR
BE %kA| 80 54 71 49| 73] 52| 66 42| 94 78 384 275
fB#%ER1T 1.3964 10 s 1
B Bm| O 2l O 2l O 2l O 2l O 2 of MREIL
54 80|15 & | 68 48] 77 65| 92 54] 82 92 373 339
E4AS 1.1003 6 w2
X O|B%EX B | O 2l O 2l O 2| x 0 of BsEKSI% EHERR
49 71| 48 68|1%m %km| 43 76/ 40 50 92 81 272 346
TRiZLE 0.7861 2 s 5
X 0] x O|BSEX Bsm| X 0] x ol O 2 of MBEGIH B R
52 73| 65 77| 76 43|155 s%k=| 88 52/ 90 70 371 315
RUSH 1.1778 6 w3
X 0 x 0 O 2|58 = | O 2l O 2 of BsE&SI% EHERR
42 66| 54 92| 50 40| 52 88|:FA %k&A| 84 76 282 362
INTFiRYST 0.779 4 a4
X o x ol O 2| x 0|B%5ER B | O 2 of BsE&sIH
78 94| 92 82 81 92 70/ 90| 76 84|BE k& 397 442
ZAPOB 0.8982 2 w6
X 0l O 2| X 0| X 0| X 0| BB B m o BEEkEIS EERR
o0 of o o o o o o o0 o o ofBAZxA 0 0 0 0
#DIV/0! 0 it
0 0 0 0 0 OlfER Bl BHEXG &
BRESEFA REICKU. BEI(O) 2. BB X (X)0A. S[ERTF(A) 1A, FEBICXKAEIL(O)2ETHEX(-)—14



2015%EE BAENRTYNMNR—)L)—FE xfEiER—F TR 27 EERKER

5+ 1880 ﬂ TS
*TERFRF BiEa Bia B/a %ka
0 0 0 0 0 0 T—LTFAL—T oy 3= T—LTFAL—T ]ILEE[
Bs/8/51 59 REHEH
BR kR 0 0 0 0
#DIV/0! 0 HitHH
BB B = 0 0 0 0 0 of MEIL
0 O0|f& &4 0 0 0 0
#DIV/0! 0 HitHH
O|B5ER B = 0 0 0 0 of BsE&SI%
0 O 0 0ofFfs k=2 0 0 0 0
#DIV/0! 0 HitHH
0 0|B5ER B 0 0 0 of MEIL
0 0 0 0 0 0|1%m &= 0 0 0 0
#DIV/0! 0 it
0 0 0|B5ER B 0 0 of MG
o o o o o0 o o0 O|BA %A 0 0 0 0
#DIV/0! 0 it
0 0 0 0|B5ER B 0 of MEIL
o o o o o o o o o0 ofs %A 0 0 0 0
#DIV/0! 0 it
0 0 0 0 O|B5EX B of 5L
o0 of o o o o o o o0 o o ofBAZxA 0 0 0 0
#DIV/0! 0 HitHH
0 0 0 0 0 OlfER Bl BHEXG &
BRESEFA REICKU. BEI(O) 2. BB X (X)0A. S[ERTF(A) 1A, FEBICKAEIL(O)2ETHEX(-)—14



